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Run 6226 quartetwise, PosHalAcci/NSamplas

=== Laser O -—

Entries: 22932
Mean: 12,2249 &/- 00032
St Dhey- OLAEE0 -~ 00023

=== Lager OFF ---
Entries: 172562
Mean: 33608 «- 0.0024
Sid Dey: 03199 - 00007
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Run 6226 quartetwise, Diffs0
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=== Laser O -—

Entries: 22932
Mean: -0.6267 «/- QLOOIT
Sid Dhey: 04926 - 00023

=== Laser OFF ---
Eniries: 17252
Mean: -0.0482 «/- 0UOOSD
Sid Dhey: 0.3930 - 00021

Run 6226 quartetwise, Asyms(

=== Laser ON -—
Eniries: 223932
Mean: -34. 37136 +/- 0. 1781
Sid Dev: 269713 4/~ 0L1269

=== Laser OFF ---
Entries: 17252
Mean: -2.64186 «/- DL1EIE
Sid Dev: 215173 4~ L1166
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Run 6226 quartetwize, NegHalAcc)/NSamplas0

=== Laser O -—-

Enlries: 22932
WMean: 12,6516 /- 000034
Sid Dev: 051058 &~ 00024

=== Lager OFF ---
Enlrie=: 17262
Mean: 34101 «/- .0 3E
Sid Dev: 03361 - 000708
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Run 6226 quartetwize, Sums0
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=== Laser O -—-

Enlries: 22932
Mean: 25,0765 +- 00057
Sid Dhey: 0UBG0E - 0.0041

== Laser OFF ---
Enlries: 17262
Mean: 68119 +/- 0.00480
Sid Dev: 0.5255 - 0.0020
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Run 6228 quartetwise, PosHelAccd
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— Lasar O —

Enlna: I3

Masn: 318304080 4 2L TELD
22 Dira: 13S0 2Z1 Q6T & SET1A512

— Lassar OFF —
Enlne: 1752
Masn: JPFEIE0 2488 &0 J158 0380
g Ore: S4T0ET.S0E] &= E1ra <000

Run 6226 quartatwise, Diffsd
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Run 6226 quartetwise, Asymsd

=== Laser ON -—
Eniries: 223932
Mean: -33. 3900 +/- 0.1206
Sid Dev: 196260 +- L0915

=== Laser OFF ---
Entries: 17252
Mean: -1.3553 «- QLOB0IE
Sid Dev: 1056869 +/- (LOSES
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Run 6226 quartetwise, NegHalAcc4

— Ly 0% —

Erlnea: 239132

Magn: JI0E YT - BEEEETTE
225 Dwre: VI12440 3ETH - 812383810

— Lussar OFF —
Erlnea: 1722

Magn: STTI450. 7104 - 4847 7E]

S Dhire: G317 S2EE +/- 24711800
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Run 6226 quartetwise, Sums4
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Run 6228 quartetwise, Asyms USbg1 Run 6226 quartetwise, Asyms LIShg2
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Run 6226 quartetwize, Asyms DSbg1 Run 6226 quartetwize, Asyms DShg2
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Run 6226 quartetwise, Asyms Horz Finger Run 6226 quartetwise, Asyms Vert Finger
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Run 6226 quartetwize, posHEI vs time
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Run B226 gquartetwize, negHO vs time
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Run 6226 quartetwise, posH4 vs time
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Run 6226 quartetwize, posH4 vs time
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Run B226 quartetwize, negH4 vs time
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Run B226 guartetwize, summd vs time
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Run 6226 quartetwise, posH4 vs time
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Run B226 quartetwize, USbg1 ve time Run B226 quartetwize, USbg2 ve time
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Run 6226 quaretwise, horizFing vs tima
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